=FEFDOEED (FRE L f#EN)

1) z=2, y=2J2 (2) z=2J2, y=22
@) z=2V3, y=4/3
1) z:2:y=1:1:/2 IPEYIZL->TV3,
z:2=1:1 M6 z=2

2:y=1:J2 6 y=2J2

2 ziy:14=1:1:2 BEYIZ->TW3,
rid=1:2 M5 =22
rid=1:J2 M5 y=22

(B) 2:z:y=1:2:4/3 MHEYIZ->TWV3,
2:2=1:2 M6 z=4
2:y=1:/3 6 y=2/3

@) z:y:6=1:2:43 PREYIZ->T\3,
z:16=1:/3 M5 z=2/3
y:16=2:.3 M5 y=43

44/10 cm
HOD¥EIE 10-3=7(cm)
£-T, AAOHIZEWT
AH*+32="7*
AH?=40
AH>0TH206 AH=2/10

H 3% ABODHHETH D05 AB=2AH=4/10 (cm)

3) z=4, y=23

(18+124/3) cm?
B & D &#EsN,
AABD BEA-FI=ZHFTHEN5

DB=+/2 AB=62 (cm) C
Q)
%72, ZCBD=75"—45"=3(0°, ZCDB=90" .
THENE D
CD : DB=1:/3 6 cm -
1 6+/2 \ )
£oT  CD=—=DB="Y==2/6 (cm) b A
3 3 AGem B

U7=h->T, AR ABCD DOEHEIE

%x6x6+%x6ﬂx2f=18+12ﬁ(cm2)



